[ Efficiency vs vertpos |
- 0.2

20.18
4
20.16
(8]
§0.14
[
£0.12
0.1
0.08
0.06
0.04
0.02

—

rui

||||||||l|||qq||A|||||.(.||||£|||||||||

o]
A\

.

Ratio

LA

2

=
O+
s

10 0
TP vertr (cr%)

—=— DQM_CKF_TTbarPU

Efficiend —— DQM_mKFit_TTbarPu
ICIeNd __,__ DQM_mkFit_TTharPU-clonerfix

N 0.2
20.18
(2] n
>0.16F
>
LC) C
$0.14F
o L
£0.12F
(]
0.1F
0.08F
0.06F
0.04F
0.02
)

15

Ratio

1

%535 =20 =10 0 10' 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
N 0.2
> o
0.18
e L
70.16
20.14
)
£0.12
0.1F
0.08F -4+ vse by
0.06f - T BT
o.o4:—----ff----: UL S .
L
| PP T T T |||

b +++++ ..........

+++++++++++++ "

AR5 0 510 1520
Sim. PV z (cm)

............................

efticie

Ratio




	Contents
	Page 1


